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PART - 1(B)
GENERAL ENGLISH
Directions for Q. Nos. 21 to 26 : Directions for Q. Nos. 27 & 28 : Which
Complete each of the sentences given part of speech is the underlined word
Hllrﬂlilﬂdﬂlmm in each of the following sentences °
5 W URSLALS
Jl’.’mmmmmmmm.m 3 i ¢ i
(1) from (2)  with () Conjunction (4) Pnpm ,
M in (4) on C 4
I was not o mischié¥ous G
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two maonths. (1) Preposition #°() Advert
(1) beld out (2)  held up () Conjunction s (4) Pronoun
(3) heldin (4)  held over Gt

Directions Ifgr"ﬁ;.»ljl’lﬂ & M : Bach of
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(2) setup for ' :ﬁ‘i‘ ,_,
(3) setin for &
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Hindus in the political climate of the early
twenueth century. With the independence
movement under way to eject the British
and 10 restore India to the Indians after
line centunies of domination by rulers
whose roots were outside the subcontinent,
there was a magnetic appeal about a Hindu
who, ~from  comparatively  humble
t}'EElﬂmﬂE.s. had risen to shake the very
foundations of the Moghul Empire. In the
words of Sir Jadunath Sarkar, the leading
Hindu biographer of Aurangzeb, writing in
about 1915, Shivaji ‘proved by his example
that the Hindu race can build a nation,
found a State, defeat enemies: they can
conduct their own defence; they can
protect and promote literature and art,
commerce and industry; they can maintain
navies and ocean-trading fleets of their
own, and conduct naval bartles on equal
terms with foreigners. He taught the
modern Hindus to rise to the full stature of
their growth’. So, when viewed with
hindsight through twentieth-century
glasses, Aurangzeb on one side and Shivaj
on the other come 1o be seen as key figures
in the development of India. What Shivaji
began, Gandhiji could complete — the
addition of ji is in both cases a mark of
respect, and Indians today speak In
conversation of Gandhiji rather than
Gandhi — and what Aurangzeb stood lor
would lead to the establishment of the
separate state of Pakistan.

According to Sir Jadunath Sarkar,

3t

Shivaji
(1) put ‘Bijapur on the road to
prospenty
(2) proved that Indians were
capable of managing all of their
affairs.
(3) stressed the need for national
unity,
(4) was determined to free India

from the yoke of the Moghul
empire,

(6)

pPG16-1

32, “The expression ‘whal Shivaji began,

=

Gandbhiji could complete’ refers to
atrocities committed by the

(1)
Moghuls and the British.

(2) India’s longing for a just and
equitable society.

.(3) India’s struggle against fureig_;n
domination culminating In
freedom.

(4) sacrifices made by the Indian
people.

Q}./ Study the following statements :

A. Shivaji's guerrilla  tactics
proved fatal to the Moghuls.

B. Shivaji's guenlla tactics raised
him to the stature of a hero.

(1) ‘A’ is true and ‘B’ is false.

(2) ‘B’ istrueand ‘A’ is false.

(3) Both ‘A’ and ‘B’ are true.

(4) Both ‘A’ and ‘B’ are false.

The word ‘magnetic’ as used in the
passage means the same as

(1) Wonderful (2) Captivating
(3) Enormous .(4) Charismatic

Which of the following statements is
false ?

(1) Shivaji had comparatively
humble beginnings,
(2) Shivaji shook the foundations
of the Moghul empire.
(3) He was a big Maratha
chieftain.
(4)  Shivaji's guerilla tactics proved

fatal to the Moghuls.,




DING -

recthoms for Q. Nos Mo 40 : Read
the passage piven bedow and complete
e slaewments that follow with the

help of given opoons

Today desel engines can be seen in
use all over the world In size they range
all the way from small sngle cylinder
verstons of 3 KW dnving water pumps to
mammoth mult-cyvhnder manne engines.
Buses, lomes, locomolives, tractors,
bulklozers, mobile cranes and ships are
powersd by dwesel engines. Stationary uses
of the engine include genenuting sets, pump
sets. ot For & rugged. powerful and
mobile source of energy the diesel engine
s preferred It is  bheavier than a
comesponding petrol engine but far lower
i fwed consumption. Heavy transportation
and road construction could not have been
possible in the absence of diesel engines.

Even in the case of passenger
vehickes where pewrol engines reign
supreme so far due to lighter weight and
smoother running, diesel engines  are
making gradual inroads. We may see more
of dresel-powerad cars in future due to the
superior fuel economy of this engine. It is
far less polluting than the pewrol engine
since 1l uses much more air than is
necessary for combustion and hence, the
combustion is more complete.
All this we owe to Dr. Rudolf Diesel,
could nos ena the fruits of his
lsbour. This (genius in. engineering was
unbelicvably inept in financial
management and lest much of what he
eamed. He was deeply disturbed at the
rapid worsening of relanons between the
French and the Germans. The portents of
the coming holocaust, the First World War,
were too evident t be ignored. On
29 September, 1913, Dr. Diesel took the
ferry to Britain on a business trip and
disappeared during the voyage; presumably
he got drowned in the sea.

whoe

(7)

I

Tl ‘
15 an example of stationary |
use of an engine |
(1) Acrane |

(2) A pump set

(3) Aship
i4) A tractor

,_;57.’; Diesel engines are preferred because

they are

(1) for lower in fuel consumption,

(2) easily available.

(3) much more durable than petrol
engines,

(4) cheaply maintainable.

\}U»/ Dr. Diesel suffered huge financial

setbacks owing to

(1) his financial incompliance.
(2)  his failing health.

(3) The First World War.

(4) the  worsening  relations
berween France and Germany.

39-/ The word ‘portents’ as used in the

last paragraph means
(1) prospects

(2) possibilities
(3) signs

{(4) chances

33/ Study the following statements :

A. Diesel engines consume more
fuel.

B. Diesel engines are heavier than

petrol engines.

‘A’ 1s true and ‘B’ is false.

‘B’ is true and ‘A’ 1s false.

(1)
(2)

(3) Both ‘A’ and ‘B’ are false.

B

iLufthe &

(4) Both'A’ and ‘B’ are tru
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PART - 11/ wm - 11
GENERAL AWARENESS / 5mam=1 ATTE®HAT

41. Which of the following gases is not
considered as polluting agent of air 7

(1) SO, (2) €O,
(3) Cco (4) NO,

41 Which of the following is not a
Kharif crop ?
(1) Cotton
(2) Groundnut
(3) Mustard
(4) Maize

_r”
\jﬂf Which of the following is correct 7

(1) Natonal Highway 7 connects
Mumbai with Varanasi.

(2) National Highway 7 connects
Delhi with Kanyakumari.

.(3) Natonal Highway 12 connects
Delhi and Mumbai.

(4) National Highway 6 connects
Delhi and Varanasi.

3-1;# In human beings kidneys are located
al the level of the waist on either side
of the vertebral column. Each kidney
contains a large number of coiled

tubes called

-(1) peurons
(2) ureters
(3) nephrons
(4) intestine

41.

42.
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DPGIAd

Uj{’ According o Plager, u which nlige
© of cognitive drwinpnu-.ul, i atudent
is able 10 recognize tha nibtiing

Is reverse of addition 9

(1) Sensorimotor Mipe

(2)  Preoperational e

1) Conerere Opertions stage
(4)  Formal operations slnpe

i

The most  practical wiy (o help
students elaborate ynd orghnlze new
knowledge is 1o

(1) teach them how 1o tike notes

(2)  ask descriptive (uentions

(3)  give homework on a reguline busly
- (4)  use problem based learning

MMrs. Bhagat notices in her clasy (hit
one of her students Chetan is restlens

in his seat and seems (o pel ensily
distracted, He hos difficulty
recognizing words and letters and
reads slowly with lite fMuency. He
has  limited vocabulary  and  has
difficulty copying words from the
blackboard. Chetan may be showing
signs of

(1) learning impairment

(2) language disorder

(3)  learning disubility

(4)  behavioural disorder

1200 With respect 1o Educational
Psychology, which one of the

following  completely  describes
punishment ?

(1) Inweduetion of positive as well
as negative reinforcer,
(2) Introduction of positive

reinforcer and withdrawal of
negative reinforcer,

Withdrawal ~ of  positiver
icinforcer and introduction of
negative reinforcer,
Withdrawal of positive as well
as negative reinforcer,

- (3)

(4)

(29)
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